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rate/cell by loop module ID
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difference between noise rate and mid-tray fit
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rate/cell by tray ID, nHits/tray/ev>25 |
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| nHits/ev, ToT range

10° H

104

10°

102

10

| I |III|H| I |IIIIU|

=

HHHHPT[HHI’IPWHITI% N | ISP | | Y

|
100

o
1l

300

400 500

00

| nHits/tray/ev, ToT range

108

10’

10°

10

T}

104

10°

10?

i

= |

l'.'-'I'E.-"'!"'i..l"'l‘I.---‘n_l_'._l .

[EnY
o

[

il -
i} et
1
1 I 1 1 1

e I 0.

L )

O]W| II|II||¥| III|H|V| ]

60

|
80 10

0 120

M1
140

160 180



t-t,,,, NHits/tray/ev>25 | t-t,, vs module, nHits/tray/ev>25

al

1 04 E —=—m——=———"

450

400

350

300

250

200

102 150

100

50

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII fﬁ

0 50 100 150 200 250 300 350 400 450 500 0 5 10 15 20 25 3

t-t,, . NHits/tray/ev>25 | t-t.,, vs module, nHits/tray/ev>25 t-t__. vs rel module, nHits/tray/ev>25

ear

121

| |
N | || AT

100
10°

80

60

40

10

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII 0 |IIII|IIII|

5 10 15 20 25 30 35 40 45 50 0 5 10 5 20 25 30 -30 -20 -10 0 10 20 30




T Ve reTmoduie, TFSRTay evS25, by Mear T vs ol mode, Ty Mear T ve rel module, Ty Wear T Ve rel moduie, HISI oy Wear Ty hear T Ve reT moduie, TFray 6v=25, by Mear

Ve o, Ty e




II"IIIIIIIIIIIIIII

ToT vs nHits/tray/ev

. |
0 100 200 300 400 500 600 700 800 900

1000

35

30

25

20

15

10

-
"
-

0 50 100 150 200

250

O 1 | I | 1 | I | 1 11 1 | 1 11 1 | | I 1 | 1 11 1 | 11 11

300

350

10
10’
10°
10
10
10°
102
10

1

1200

1000

800

600

400

200

0

0 5

10

15

ToT,

nHits/tray/ev<10

25

30

35

40

0.12

0.1

0.08

0.06

0.04

0.02

15

25
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